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NMEE 4{%5,836 75
5{84,3775H wsE
T Dt 101%4,36875 1
4154566 5 M
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R
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11483,108 5 M
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# = FHEBLE XHiKEE | BE
1 & = & 7,8145H 7,6045M 0.8
2 % =1 13{83,276 5| 10{84,368 5| 113
3 R S =1 401856745 M| 381828305 MH| 413
4 & S =1 1286778 M| 11{83,108 5| 122
5 % & =1 507 M 507 M 0.0
6 EMKEXE 2,123 M 1,854 M 0.2
7 7 T & 9,7935 M 8,657/ M 0.9
8 * PN & 8{%2,0935 M| 7{849537AH 8.1
9 A 77 =1 41%6,1045 M| 418583675 M 4.9
10 % " =1 12{82,556 5| 10{87,0095FM| 115
AN & =1 5{84,377HM| 5{84,377H5H 5.9
12 3% X H % 2{%6,4435 M| 21864015 M 2.9
13 % & =1 3,000 M oM 0.0
A R O 101183,9805 M| 92{87,0475 M| 100.0
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